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QUESTION 1

While testing a recently installed FAS8700 cluster, a node fails. You now need to replace the impaired node. In this
scenario, which two statements are true? (Choose two.) 

A. You must move the boot device from the impaired node to the replacement node. 

B. The boot device must remain intact and must not be removed from the impaired node. 

C. You can change any drives or disk shelves as part of this replacement procedure. 

D. A controller model of the same type must be used to replace the impaired node. 

Correct Answer: AD 

Reference: https://library.netapp.com/ecm/ecm_download_file/ECMP1147156 (2) 

 

QUESTION 2

You are installing a new AFF A400 cluster that is running ONTAP 9.7 software. You are asked to attach an Amazon S3
cloud tier for FabricPool technology. In this scenario, which two NetApp License File (NLF) types are supported for
cloud tiering? (Choose two.) 

A. term-based 

B. perpetual 

C. base 

D. master 

Correct Answer: AB 

Reference: https://www.netapp.com/pdf.html?item=/media/17239-tr4598pdf.pdf (10) 

 

QUESTION 3

You have an AFF A400 cluster that is running ONTAP 9.7 software. You are asked to set up FlexCache for NFS
volumes. In this scenario, which statement is correct when implementing FlexCache? 

A. A capacity license is required. 

B. A subscription license is required. 

C. A site license is required. 

D. No license is required. 

Correct Answer: A 

Reference: https://www.netapp.com/pdf.html?item=/media/7336-tr4743.pdf (27) 
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QUESTION 4

Before installing an 8-node cluster for a customer, you want to validate compatibility with existing hardware. Which two
tools would you use to validate the configuration? (Choose two.) 

A. Active IQ Config Advisor 

B. Interoperability Matrix Tool 

C. Active IQ System Manager 

D. Hardware Universe 

Correct Answer: AB 

 

QUESTION 5

You are planning to install a new ONTAP 9.7 All SAN Array (ASA) into your existing data center. In this scenario, which
cluster configuration is allowed with ASA controllers? 

A. Add the ASA controllers to an existing 4-node cluster with NAS licenses. 

B. ASA controllers can only be added to clusters that have existing SAN licenses. 

C. ASA controllers can only be installed as a standalone HA pair. 

D. Add the ASA controllers to an existing 10-node cluster. 

Correct Answer: B 

 

QUESTION 6

Click the Exhibit button. 
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You are setting up a new AFF A700 into a new rack at a customer\\'s site. The customer asks you to plan for simplified
future growth. Referring to the exhibit, how would you satisfy this requirement? 

A. Option 4 

B. Option 2 

C. Option 3 

D. Option 1 

Correct Answer: B 

 

QUESTION 7

You are asked to add a new HA pair to an existing 2-node switchless AFF A220 cluster. You must first convert to a
2-node switched cluster using Broadcom BES-53248 cluster switches. Which two conditions must be fulfilled before you
start the migration? (Choose two.) 

A. All cluster LIFs must be in the up state and on their home ports. 

B. The "Enabled Switchless Cluster" option must be manually set to "false". 

C. All cluster LIFs must have an MTU size of 1500. 

D. The 2-node switchless configuration must be properly set up and functioning. 

Correct Answer: AD 

Reference: https://docs.netapp.com/platstor/index.jsp?topic=%2Fcom.netapp.doc.hw-sw-
ix8-migrate-2n%2FGUID-81FD5EDF-8902-40EA-9050-69358426CB6F.html 
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QUESTION 8

Click the Exhibit button. 

You are installing a 2-node AFF A400 switchless cluster. You have cabled the management network to the e0M port.
NetApp also recommends cabling to a redundant management network switch. Referring to the exhibit, to which port
should the redundant management network be cabled? 

A. 3 

B. 2 

C. 1 

D. 4 

Correct Answer: D 

 

QUESTION 9

You want to ensure the highest path resilience and performance increase to the storage stack on your FAS8700 cluster.
In this scenario, which two types of stack cabling are available to use? (Choose two.) 

A. quadpath HA 

B. mixed-mode 

C. single path 

D. multipath HA 

Correct Answer: BD 

Reference: https://www.cisco.com/c/en/us/products/collateral/switches/catalyst-9300-series-switches/white-paper-
c11-741468.html 

 

QUESTION 10

After completing a technology refresh, you need to schedule a knowledge transfer with a customer. The customer asks
you to address a number of topics during the meeting. In this scenario, which two topics would be appropriate to
address? (Choose two.) 
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A. performing database application data migrations 

B. logging the customer support calls 

C. accessing internal NetApp KB articles 

D. registering for access to the NetApp Support site 

Correct Answer: AD 
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